R

HH

% B

2EN

FHE

X8

&

# i

EAn7lRe

Ak

[ %) E R 187,070M . FHe={t1T7E 66,350, A £179800. SAaE(#$129400. ZiFEHEH
19,800, {TEIE 1 #47,350, TAY;AE & 96,580 . B ENEFi14,000, E=7%140,000, BEEE 25,750, 1)L
FEHE 914,490, B 8%fEH #2,340

350,000

350,000

EEEIHN

A %EE%10000M
64 B E (12~5H)48387H
{F 9 FH10500M

68,887

68,887

FERE

3/10~12 % 500 3/15=500H

2,000

2,000

EEIEX

ARI—FH (BREESHIF2FR) bt EREFHLLBVVELRE, £ 8] (2E])

112,200

112,200

T Etyb(150P)5980 , Ry RBE (AU /SR AR—L T ) -H8F - W41 - 10019 BE&E 24713, ¥ 75y
4-1) 7 5% —13500+3% #2300 . R—RXx+!)7 (THULE) 10240, Fx—> (W— Ak INAFRAOAVT R
1)—FBA17) 114108 . 7\ 1)— (Brite Stars\w71J—:13,390M . Isolator (New Era SBC-001B) : 9,660 .
DC/ACa>/\—A—KV-500:5,000M (k2—2"3A) . MLFCA—J JL: 2,560, /\yT—Fvh—: 1216,
Eai—X-inFth TE+32,500H)

89,876

89876

RIEBEDEHEDH
=37H-5FH(h—FEER)

365,000

365000

hILx

Fl1$E ST BA*2=600F . EN$ESFEA ({REEA ) *2=600M . 1)L %25HEFE=31000M. +>/\—TL—k-J7—%4=6500M.
L —LFEMNE(ZBREEINS)=30000 . 7L R {REEF (maxlk4AS5>)=66890M

135,590

135590

[ i 4 57 BIE

2,650 X 2\

5,300

5300

BIMRIR

B RITIRIR

HAEFER(—ER, AE-BIEERRIKZRESE 3005 D#H)=99,310M
ERD (6HH, AE-HIZERRKREE3005 M #1175 1075)=50,820M

198,620

198,620

R

HART VD

O 7 (PDFhR) : 1518, £ 3 )L (PDFAR) : 1525, R 77 : 1754, BRI : 1999, bk :1,768, FG£:2,289, 77
$:2668, TEILNAD¥2 1218, ZILAZTF - ILL7 8120

15,552

15552

ERTEESR

R/—E—9 ZILZIN—YFILIvh—EyREK600A ., T—ILRRYR2 (A LT5)2300H A—T - F 5 &F
U=k XA KB =TI ANYRSA 88226, htybaO1980M, - Ty [EMER - OV /R FERE
1160 . XA LBAIL-/\5Y3904F . Y— )L F 4T (VERTEX 2048V — L+ 4T & —R{t L-36) 1,352, HT1)
(DHC T IJLFEAI-Z1x5)L)5800H . JEE B (THE ARK II. 3HD IEEE) 2 A 55440 . AR 7 —- Bk
TS EH1756M . AV E(2002770M, TV T Ly —(ML211 ALTv%) 2230, ZE5|lO0—7
1630, £ E4610M

Ay alr—REE1365A. TSRFvoR Yo X3560 ., FEF-CFETELE=LD-HAA%E 11428
FAINTLIE—  BEZDINILT IS EIBE Y, ipadds)LE —20861H . 517 NAREE (Coartem: ¥ =7 T
BEA) 1[E1800F*6[E] 53, E T 74 714512500H

98272

98272

6/12EN (Y1), &) 14000
6/21 B AT #551380M
1/3K[TIVHDEEEMREI1214H

16594

16594

ATAT

R—LR—2

KA4>,1800x3(2[E B 6/11#&3A. 3E B 13/7/59L 2 yhiRi%E). 4 —736000H+5000M (2[E B 2/104&34)
welcart 7> 718000 . BUYBY K #2980

25,380

25,380

Google

2FEMARL— (BE/\wH7+v7) 10000 , Adwords20000H .

30,000

30000

AAAT

(254 BB -TURAIFERER]
8/4F4 54 FES2250
2/3F 54 2FEFEF2250

4500

4500

Z Dt

- —
H—=>

IR DA A (T —42(FOpenStreetMap)

14,800

14800

18 B 3 [

TI2YHELESR) 22250y 7IVHEER) 22250y Bk International Travel Maps. ¥
International Travel Maps, 3—Hw/\:Marco Polo, A7 :International Travel Maps
g7 7 :International Travel Maps. IR : Freytag&Berndt

14,490

14490

EE - EREA

5/26% 1 ¥E R (P B EF9)12000H
5/281% & F #1500
3/MHTRAY A=A UEEOH AL —2 T 3000105 H%ES)

16500

16500

IR

Bl
&8

EE -/ —IUHK

(AN -GE-EER]

-EHYEE 56000 (AAT)

DA MILEH@ /RUE LRI ZET 4—5—3427R(9500M)

QA AN T—L-ITT I, BIEE@T LY T47689t(24000)

@K E - 7441 JL(90500km) - /X VB IR - A /\—@6/26 7 747210200

@7 A )L (95500km) - R[EY -S54 —FHE@T/ 144 R A T—)L12212H

®Z A )L (101600km) = T )LRA— 55 —{E18@8/14/\> T )L 7100H

@A V3 (A—H—:Falken*x2A&)@10/16<K')—K46700M

@A AILEFAILTAILA—(113242km) @11/25F Oy - 54 < 13400

@A AL EA A IL T4 ILA— (122394km) @1/29H —F - 74754500
Q/\yT)—3H@1/29H —F - 749512500 (-HA)L—>2 THFEHIH£ 2000 )

AL/ 21EE@3/11Hh4)L—> -Bertoual 600

DA AIL (TAILE—IA) - TL—F/RE - Ty 2135 #2 (128477km) @3/263>3T - T S5HE )L26000H
@214 VEEA (1K) @4/843E 71t #16800M (Continental /215 80 R 15)

DBEAVEA (4K)@4/11F+2E 7 B £F47000M (Continental /215 80 R 15L& G fuFE)
DEZEEYEE()@5/11—F4™92 1519940 (£ 2 F 4 E495000M &)

OF A ILT71IL3—EEA*3@H A&3576 1

OF A ILETAILA—ZZHE(141,710km) RS AT ¥ TR T —V@8/197R1)E 7 - 57X X40000H

490,000

471082

18,918

BEE

AV

#EE®#100,000km-8km/1L — 1L:130M IO9F7RIVHEFT(0/6ET)

1,250,000

966,212

283,788

MA7~JI/R / FletciA(2A%D)
=R -8R FE : 2%69043
BAR-TIT/RXA7ALAFIE 136640, 145190

419,916

419916

LA~BHAE / #ietcid QAR)

100,000

100,000

x!)—

BE~HYSTA RN / 84523 (FE ). A (27600%2)

139,723

139723

TIZILAIViEIEE / EHil(€89) +1.A(33.5)%2

16,000

16000

a T

BB E A GElEELSISEE)

0

0

M7 ~JI/R http://www.geodiswilson.com/en/
A7 TOXILNG B FiE+iaE :312487H
FILELFoTORINGD B AFHE: 179000

491,487

491487

g2l

[HEEI)—YILAL—>FEEMTT)—9600M (FE+AN) ., HAR—YTRX=>{LCaenTx!)—21340M (E+A)

30,940

30940

[AREGH#EB 7x!)— (Aktau=Baku) ]6/26 A 100K JL x 2. HE #3500 (Aktau)+400K )L (Baku)

52,000

52000

a0 E 7RISR DT —

150000

150,000

HAE

E+

O 7 18£RK2408%2=45 . hHF7428%2, 9 XR4H188%x2. 415 (LOD=AT156110 . ZEIL/NA D v
4082, hHDJ@2EI B)SS . 7ILAZ=F7750M*2, )4=73500M*2, F¥=75800*2, 3—r 7R —)L 11000
*2, H—7F5000*2, 42 x)720$*x2, b—T (TE LS Pwk) 2000M*2, R=> (15H 522w k) 2000*2,
aVTHFE (308 Y— RK)9000A*2, 75 (5B Pwk) 11700[*2, AT RE (30EY—URN)
10200%2+B5E&1100%2, 5 )L(90H < JLF)2000H*2

203,811

203811

FEBHBE

a7 {#B&4600R(13000M)., 7 JLA=7(1000M). k/L(3850M), 3*/7R(3000M), €T +4 A(1500M). YA7
F7(7000M), 7R A=7(2000M). EXI 5 ) —>h—RIZEAET . ERAILICTERT 7UHIEERE (6000M) .
H—FIZTER7ZIVHERD TS H—K (4000M)

70,000

41350

28,650

HAE - @R

O27 :Yuri~D F£$4$100, R—kF+—>5000R(150004)
TEINADw : ABERE15$(1200M)
TILAZ=7 : AE4500M. HE1000M

EOva: AEFHKEEICFEo>TEHL-1=85%L500M
E—YA=7 EHY YN HEKK3600M
3L : AEBF115000 , ZEREADH4Z FH15000M
O—rOARD—)L: B AEE 5400

H—F:  AEZE(HILRELDT=8)2300M

b—3: AE#Z R < 2000M

R . EAEZEMF1000M

hAI—> EAEZEE2000/HERKI!)—K ? 2000
O T HFE: EAEFS00M. JIEMA—R2000M ., HEEZE21000A ., HE:&ER1000M
OVITRFHME: AL

735450

FIE7 EEHI3000A ., FHEDFEL1300M
m72)Ah: 4L

100000

86300

13700

HEE

BE EAE. HAME=1812050M=
1,212,050 (4/21FE TH L H) +540,000 (1500 / A

10/15FETH— AH-YDZH

x2 A x180H(123 Rk FT6h A )+ FE % H 60,000
2 7 * 10/15F CTTHRXH

1,832,050

1249310

340,300

223960

18480

Iop
ol

24
Ei!

6,909,488

9,955,652

953,836




